
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Subtraktion von Brüchen ( richtiger Bruch ) (
unechter Bruch )

− =
4
3

9
6

− =
5
7

4
1

− =
2
5

4
5

− =
8
2

9
1

− =
8
7

6
1

− =
7
6

9
3

− =
2
3

7
1

− =
4
6

4
1

− =
8
7

5
1

− =
5
7

7
3

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Subtraktion von Brüchen ( richtiger Bruch ) (
unechter Bruch )

− =
4
3

9
6

12
1

− = = 1
5
7

4
1

20
23

20
3

− = = 1
2
5

4
5

4
5

4
1

− =
8
2

9
1

36
5

− =
8
7

6
1

24
17

− =
7
6

9
3

21
11

− = = 1
2
3

7
1

14
19

14
5

− = = 1
4
6

4
1

4
5

4
1

− =
8
7

5
1

40
27

− =
5
7

7
3

35
34

www.snowmath.com

https://www.snowmath.com

